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THE FEDERAL GOVERNMENT, 2008

ENGLISH (Précis & Composition)

TIME ALLOWED: 3 HOURS.....ciciiiiiiiiiinne Maximum Marks: 100

Q.1. Write a précis of the followi i
title: (20+5) ing passage in about 100 words and suggest the

Objectives pursued by, organizations should be directed t ' [

re;ultmg from the yvants of mankind. Therefore, the ?ié{‘e?nisntgca)?%?%fder? ands
objectives for organized activity must be preceded by an effort to dete'rmineppre‘;‘”ate
what their wants are. Industrial organizations conduct market studies to Iegrn \l;sly
consumer goqu should be produced. City Commissions make surveys to ascert ?t
what civic projects would be of most benefit. Highway Commissions conduct tra?fm
counts {0 learn what constructive programmes should be undertaken. Organizationlg
come into being as a means for creating and exchanging utility. Their success is
depend'ent upon the appropriateness of the series of acts contributed to the system
The majonty of these acts is purposeful, that is, they are directed to the accomplishmeni
_of some objectives. These acts are physical in nature and find purposeful employment
in the alteration of the physical environment. As a result utility is created, which, through
the process of distribution, makes it possible for the cooperative system to endure.

st cooperative activity was accomplished in small

lly with a single decision maker and simple
the growth of industrial
of objectives. This is

a hierarchy of decision

Before the Industrial Revolution mo

owner managed enterprises, usua
organizational objectives. Increased technology and

organization made necessary the establishment of a hierarchy
turn, required a division of the managemen
makers exists in most organizations.

t function until today

ppropriate objectives contributes directly 10 organizational

efficiency. As used here, efficiency is a measure of the want s‘atisfying“_xgowi; é); \22
cooperative system as & whole. Thus e_a_ff}cien;y | tion of ug lS liibjectiveiy
from the organization divided by the utilities given

evaluated by each contributor.

The effective pursuit of a
g the summation
to the organization,
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The functions H Em management process is the delineation of organizational objectives
and the coordination of activity towards the accomplishment of these objectives. The
system of coordinated activities must be maintained so that each contributor, including
the manager, gains more than he contributes.

Q.2. Read the following passage carefully and answer all the questions given at
the end.

These phenomena, however, are merely premonitions of a coming storm, which is likely

. iS | i . * omm
to sweep over the whole of India and the rest of Asia. This Is %ﬂ ._:m,mmm»mm ch%%mm o
é:o__< Uﬂ__.:nm_ civilization, which has looked upon man as a thing

The people
t as a personality 1o be developed and enlarged by purely cultural forces
no

& e ich the West have
sinst the acquisitive economy whic 4§ modem
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